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Individual T2 fitting
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param C
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Individual T1 fitting
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Simultaneous fitting
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Individual T2 fitting

edge values for noise assessment
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Individual T1 fitting

edge values for noise assessment
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parameter deviations (A, R1, C)
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Simultaneous fitting

edge values for noise assessment
mean=0.2234, stdev=0.0604, sigma=0.1783

0.5

0.4
0.3
0.2
0.1
0.0
parameter deviations (A, R1, R2, C)
0.08
0.07 0.04
0.06
0.05 0.03
0.04
0.02
0.03
0.02 6
0.01
0.00 0.00
parameter CRLBs (A, R1, R2, C)
0.08
007 0.04
0.06
0.05 0.03
0.04
0.02
0.03
0.02 0.01
0.01
0.00 0.00




